EHBEEICETELBEAFADEEIHORKR

WITHBUAR AR AR IR E

Kk AN . N
o E&)@é%— SE% DNIFEADEHE
L S A £8-BE% Fha | DAID | e FHOBH%
(Bf: M) | &%, L0 = ETE
RIEROEE AT A DK 4 B3 AR A DK
(Bifz: M) 4
— R EEA BEERICHY. EREE-FRELORINTI—UHE
1 smmas |EARB(FRE) 252,000 252,000 6/4|F0, SURIYLSMEEIZEY, ERIREFETIS
HNAMERRAER ENBE0
ARBEEA BEERICH-Y. EREE-FRELORINI—UE
2yt [BARE(ERH) 100,000 100,000 6/4|FX0, YURTILBMBEIEY, BRIREFETIN (A8 B E
[(ZHEOEH]
BEERICHY. EREE-FRELORVTI—UE
— R EEA N N EO, YURIYLBMEEILEY FRINKEETID
3| gk snEtpe EARE (ERE) 100,000 50,000 5/7|ENH D=8
(20 EDZHOER]
EARENBE. 20U EDMAZRDONTIND=H
(ZHEDEH])
z%%#ﬁl:&f:;k Eﬂ;}?%&ﬁ . ﬁéﬁ%;tﬁ%*;é;z&—%%
[ O, VURSY LS MAEEIZRY. IR 75
4 ﬁgz"ﬁ*ﬁﬁ EALE (ELE) 150,500 150,000 4/12| BN BB a4t R
[Zn1th])
RAFEEICIE. ARE500HZEET,
[(ZHEDEH])
BEERICH-Y. BREE-FRELORVNTI—UE
AR EEA N N HFH OURSYLSMEEIZEY, BRINEZEEZT50 o
4 3 \ o /\ Al
SemEsEas EARE (ERE) 31,500 2,100 4/12|EDBHBT=8 nit EfTE
(20 EDZHDOER]
EARENBE 150U LEDMAZEROONTNST=8
— R EEA BEERICHY. EREE-FRELORVNI—UE
6| =5 e pra EARE(ERR) 100,000 100,000 6/7|F, SURTY LSMEEIZEY  ERINEFETIL
ATREFE EAB A1
[ZHEDEH]
BEERICH-Y. EREE-FRELORINTI—UE
—HRBAELE A HFH OURSYLSMEEIZEY, BRINEZEET5H
NIAFAVE R [EASEB(ESE) 40,000 20,000 5/22|ELHDT=
)—th&
(20 EDZHOER]
EARENBE. 20U LEDMAZROON TS0




[(ZHDER]
$¥%ﬁﬁl:§;\{:% F;éf%%ﬁ? -_ﬁéﬁ%ffa)*‘ywj_’iﬁ
8 D EERA EANRE(ERE) 100,000 25,000 6/5 §§%§$§/rﬁw§maa\;u‘ RS S EfE
AALES AAESUE= : ' - = Pre
(20 EDZHOER]
EARBENBE 4OUEDMAZRDONTIND=O
SR EEA $¥§Eﬁﬁl:§5{:% BIRHEE - BB LD VAT~
9 EIZFA%E%E:#% EARE(ERE) 100,000 100,000 7/19 ;1?52*;71;;‘/@/.\%71%&:;%4%#&11)@%’&?7992\
A -
AEEEA BEEMICHY., BERER-FRELORVNT—VE
10(BEBMERZR [ZARE(ERE) 200,000 200,000 7/19 ﬁbzﬁ;}yﬂi’:)rﬂ\%hmgl:;u"Iﬁiﬁlbl%%’&ﬁ’)uzx S EfE
o a— ENHDI=0
[(ZHDER]
BEEBIZHRY. Eiﬂ-?-f%ﬁﬁ BHBLORYNT =V
P ,{»:» 2 'y “: ORI T50
11 DaFHEEA EARE(FERE) 50,000 10,000 8/12 ;X&%ﬂ;rﬂum SIS RRRRSEY S EfE
EFERRE 2" = ' ' = B
(20 EDZHOER]
BHMRENBE. SOULEDMAZRDONTIND=H
—REBAEEA BEEMICHY., BERER-FRELORVNT—VE
12| KR ZHMT Y [EARE(FLE) 100,000 100,000 9/6 ﬁ’@zﬁ;‘/w—f:)vwi}mixfl:;u, TBIRINEZEE T
a— ENH D=6
AESBEEA BEREICHY, ERBE-FEELORVNT I _
13 ﬂ#%ﬁﬁﬁlrﬁéﬁﬂt EARE(FERE) 100,000 100,000 9/19 ﬁbg/‘/,ﬁ)w.\%hm&l:;u"Iﬁiﬁlbl%%%ﬁauz\ Nz EfE
7 ENHD1=0
AEHEEA BREICHIY . BREE-FEELORINT—IE
14 EIZFI#ITﬁv‘:‘— EARE (ERE) 200,000 200,000 9/19 ﬁ«bg/wﬁ:)rm%nma:;u,4%#&111%%&%%592\ A%t EfrE
= ENHDI=0
— Rt EEA BEEMICHY. BERER-FRELORVNT—VE
15 gﬁzggféiiﬂﬁ EANRE(ERE) 300,000 300,000 9/19 ﬁ«bgﬁ:’%m}nma:;u‘ TBIRINEZEE T
b4 ENH D=8
— Rt EEA BEEMICHY. BERER-FRELORVNT—VE
16|H2EMEREFD [EARE(FLE) 200,000 200,000 9/19|FE0, DURDSHLSMABEIZRY., BRINEEETOV
= ENHDH0
AEBAEEA BEEMICHY., BERER-FRELORVNT VB
17 %%fﬂﬂﬁﬁﬁ%?c EANRE(ERE) 100,000 100,000 9/19 ﬁ«bg/wwrm%numa:;bx4%#&111%%&%%592\ N7 EfE
= ENHDI=0
R EEA BEEMICHY. BERER-FRELORVNT—VE
18 HTEIEJEIA EANRE(FERE) 100,000 100,000 9/19 ﬁbg/w—i’:)v/.\%hu&fl:;bk BRIREEETOD
= ENHDI=0
— Rt EEA BEEMICHY. BERER-FRELORVNT—VE
19 i*»#‘—-’ﬁiﬁ# EARE (ERE) 130,000 130,000 1/9 ﬁbg/w—i’:)v/.\%hut;a:;b)‘ BRIREZEETOD
= ENHDI=0
— Rt EEA BEEMICHY. BERER-FRELORVNT—VE
20 E:FI*)L#‘—# EANRE(FERE) 100,000 100,000 1/27 ﬁ«bgw:)rm%numgl:;bx BIRINEE LTI
= ENHDI=0
&&t 2,554,000




